
1. Preparation Video 00.00-18.01 

• Disassembly Original bottom protection. 

Aluminum plates and black side plates/ Black Original protection product. 

• Remove the 5 original brackets and mud flaps (See video 09.26-10.44) 

• Keep all removed mounting materials! 

 

2. Assembling Rocksliders (Video 11.15-22.18) 

 

• Measure out rocksliders for placement (Video 11.15-15.25) 

Sizes 51 cm, 73 cm, 91 cm 149 cm 

• Remove the bolts in the sills 

• Mark the holes. Distance from inside is 3cm 

• Drill 3 holes 38mm (pre-drill if necessary, see video) 

• 4th hole clearing/cut out 

• Put plugs back in the sills Video 15.58-16.28 

• Remove bolt from the tank plate Video 17.45-18.02 

• Assemble Rockslider using 2 jacks (jack protection) 

• Jack the rockslider up and check that the connection to the pipes is correct video 18.51-18.55 

• Mount the bolts 5x bolt M10x100 front holes M10x120 Video 19.05-20.31 * advice to grease bolts 

with copper grease/ceramic grease 

• Inside 4x bolts M10x40 

• Tighten everything without tank protection (tighten everything later with tank protection) 

• Repeat for other side. 

 

3. Placement Diff protection Video 24.04-30.24 

• Release the rear exhaust from the rubbers on both sides. 

• Slide diff protection plate in place. (trial placement) 

• Loosen heat shield bolts 

• Remove heat shield 

• Detach/remove clip 

• Jack up to support Diff 



• Loosen 2x bolts inside diff (see video!) Video 24.53- 26.44 

• Remove jack 

• Test the diff protection plate 

• Replace bolts 

• Replace jack 

• Install and tighten all bolts 

* Back is M10x30 Front Original 

• Replace exhaust/muffler 

 

4. Tank protection plates Video 30.24- 47.40 

• Place the tank protector under the tank 

• Draw the heat shield on both the left and right 

• Remove the heat shield 

• Cut away the remaining parts so that the tank protectors can be mounted 

• Replace the heat shield 

• Place the mounting brackets (do not tighten yet) 

• Tap the front brackets M10 

• Place the tank protection plates 

• And tighten all bolts M10 

Repeat for other side. 

Note: That the tank protection plates are clear of the exhaust 

 

5. Place center and front protection plates Video 47.40-57.40 

• Start by placing the center protection plate under the car. (for position use the front bolt holes) 

• Mark the heat shield and remove the marked parts 

• Mark mounting center bracket on rockslider (tip: use tape) Video 48.54-49.41 

• Remove center protection plate 

• Install the center bracket and remove the heat shield as shown 

• Check that all bolts are in the correct position at the large center protection plate before mounting 

• Tighten all bolts 

• Place the front protection plate under the car. 


